Test 17
1) D
2) B Two unit multipliers are needed for
square units
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14) A Aline only has one dimension: length

2(2A)(g) = 2AB units?

Test 18

1) A

2) B

3 C

4 D

10) A

12) B

13) D

14) C

D = RT, B and D may be derived from this

= (60)(4) = 240 miles

II\J

T= =90 minutes

3

_ 400 _ -
R= 175 = 228.57 =~229mph
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Dp =Dy

RpTp = RHTH
(9)Tp = (6)(6)

Tp =4 hours to park

RT=D (9)(4) =36 mior (6)(6) =36 mi

Ds
=

Dg =D
D, s=4J

RsTs =RyTy
Rs(4) = (Rs+2)@3)

4Rg =3Rg + 6 (from above)
Rs =6 mph

=24 miles

OIS

2
4 -1 =3 factors %:10

exponentof Ytermis4-1=3
exponent of 2X termis5-3=2
10(2X)2Y3 = 40X2Y3

m£2 =180°-132°=48°
(supplementary angles)
m£7 =48° (alternate exterior angles)

N\

Volume of a cylinder =
area of base times height =

(m)@X)° (H) = m4XH
\
Surface Area = 2 times area of base plus
area of side = 2[ (202 ] + (uaX)(H) =
8nX2 + 4nXH

10)

11)

12)

13)

14)

15)

B (3%)(32)=(3-3.3)3-3)=3°

A Dp+Dy=24
RaTa +RyTy =24
MHT+@T=24 (Ta=Ty)
T =2 hours

B DR +Dg =39

RRTR A RsTS =39
(6)(2Tg) +@)Ts) =

13Tg =39

Tg =3 hours

(TR =2Tg)

D Tr=2Ts =2(3)=6hours

D D=RT 130=R(5)

R =26 mph (their rates are the same)
C Dp+Dy =130

RaTa +RyTy =130

(26)Tp + (26)(TA-— 1) =130 (TV =Tp ——1)
52Tp =156
Ta=3 D = (26)(3) = 78 miles

B D =(26)(2) = 52 miles

or 130 - 78 = 52 miles

A 2x2=4

2 is the greatest

2x2x2%x2=16
common factor

2x3x3=18

=243

X+ 4

B oX+3|2X%+ 11X+ 12

-2X2 - 3X
8X + 12
-8X - 12

B 62472 =H2
36+49 =H? 6
85 =H?

J§5 =~ 9 miles

7)

9)

13)

14)

D Y=5X-3, Yinterceptis -3
has a steep positive slope

B Y =-2X, Yinterceptis 0
has a negative slope

C Y=3X+2, Yinterceptis 2
moderate positive slope

cC @)=

3(1)+b

2=3+b
-1 =b (yintercept)

A The difference in Y divided by
the difference in X

0’1

5-1_4 __
D == 2 slope

1

1

-~

=
)=(-2)(1) +b
=-2+b

3 =b (Y intercept)
Y=-2X+3

B May also be writtenas 2X+Y -3=0

A Quadratic formula

D The discriminant is under a square root
sign, so a negative number will always
yield an imaginary result.

B X+.15X +.05X =68.15
1.20X = 68.15
=$56.79

A 93,000,000 = 9.3 x 107

30,000 =

(9.3 = 3.0)(107 = 104)

3.0x 104

D 365=3.65x102
(3.1 + 3.65)(103 = 102) =

.85 x 101

= 8.5 years

=3.1x 103 days
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